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Read the passage carefully and attempt Question Nos.1, 2, 3 & 4 by choosing the most appropriate option:

We Nigerians, who have been struggling for our rights and have finally achieved them, are correct to forget that a
right by itself is incomplete and, in fact, cannot last long if the obligations which accompany that right are absent.
We still think too much in terms of rights and privileges and too little in terms of obligations. That weakens a
nation and we then become merely decriers and grumble without anything positive to contribute. That applies to
the nation as a whole but much more so to the press. The press fought for its own freedom from governmental
interference in the old days. Much that appears because of that freedom seems to be exceptionally dangerous. The
freedom of the press is an indispensable feature of the democratic process. Undoubtedly, even if the government
dislikes the liberties taken by the press and considers them dangerous, it is wrong to obstruct the freedom of press.
By imposing restrictions you do not change anything, you merely suppress the public manifestation of certain
things, thereby causing the idea and thought underlying them to spread further.

1 | According to the writer, rights cannot last long

A B C D
if the society is illiterate. if they are imperfect, | Without the corresponding | without support from the
obligations. press.

2 | According to the writer, if we think excessively in terms of rights and miserably in terms of obligation

A B C D
we achieve our targets. we become slaves of the the nation becomes we become critics.
press. strong.
3 | The writer believes that
A B C D
the press should be ideas and thoughts be Government likes to give it is wrong to impede the
suppressed. controlled. freedom to the press. freedom of the press.

4 | According to the writer, by imposing constraints

A B C D
we change the society we cause the idea and we change the situation we wipe out the idea
that takes liberties. thought to spread. for the better. totally.
Fill in the blanks with the correct option.
5 | The Government of India is concerned with the digital literacy prevalent in India.
A B C D
tiniest levels of superb levels of smaller levels of low levels of

6 | Scarcely did Mohan step on the ladder

A B C D

then it broke than it broke when it broke it broke
7 | Mendicant is .
A B C D
| e mogom Tomplce | anartormetwark | %W e s neda
8 | Jaya is not well acquainted me.
A B C D
to with from of
9 | Gesticulate is

A B | C D
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to think "’.‘bOUt atopic to neutralize fast. to make eXpressive to abandon or forsake.
seriously. gestures while speaking
10 | I don’t know .
A B C D
who | can trust. whom | can trust. how can | trust. to who | can trust.
11 | Aisha’s work is superior her brother’s, although he is senior her at college.
A B C D
than, to to, than to, to from, then
12 his Uncle he has six other male relations.
A B C D
Inspite of Beside Besides Despite of
13 | I, John, an honest man.
A B C D
am is will be were
14 | The aircrew not come yet.
A B C D
is have has will
15 | Indian goods are Chinese goods.
A B C D
most superior to more superior to superior to good to
16 | No sooner had the fight begun he ran away.
A B C D
then immediately than therefore

Go through the chart given below and solve the questions 17 — 21 based on it.

= BT T =1 9 TR W 17 - 21 FT FATT | |

Following bar chart presents supply as a percentage of demand of a product and demand as a percentage of
capacity of the industry to produce the same product.

Tg X ATE YA, ST T Foq T 7T 6 T(A90T T § g F 7T ST RN T SHAT 3 T(A90T T § g, FT TAeArera
FLATE
All the values are multiples of 5.

Gt A5 F UF H 2 |
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17 | If product supply for the year 2005 is 6000 kg. then the total capacity of the product is (in kg):
T F%q T AT a9 2005 F 6000 6.9, § qT 3T a%q =l Fof AT (T (Fherams H)
A B C D
None of these
12500 16500 10000 . .
TAH F FTE TRl
18 | If capacity of the industry to produce the product remains constant at 10000 kg. then the approximate
average supply (in kg) for the given period is:
T ITANT AT I & FT TQT LA AT AHAT 10000 FHFRARTH 9 RUX T2l & T ATHTAT Sfeq i =&
SEEE TR
A B C D
5100 5375 4400 6200
19 | If the product supply remains unchanged for the given period, then the trend of industry capacity signify:
T Feq AT AT &0 T 7 F FEAT TZAT 8 q7 SR 6T STHAT T FTh1d 907ar g
A B C D
Industry capacity steadily | Industry capacity steadily Industry capacity Industry capacity remains
increases over the given decreases over the given | fluctuates over the given constant over the given
period period period period
AN ATAT TR T | SeirFremar g F iy || ST H a|qar a9 § ST Y eqwar 9 H Row
aaEd g ot 7 2 et Tedt & T
20 | The year that shows the highest increase in the difference between the industry capacity and supply over the
previous year, if demand for the product is 10000 kg for each of the given year is:
g U, ST SN &HAT T ATYIA 7 i< (Oger a9 & qa9 a(fer® g, i< awq it T 10000 FFemmy g7 aw
¥, BN :
A B C D
2003 2004 2005 2006
21 | If supply is constant for each of the years given above, then the capacity is highest for the year:
T argfd g% av # 2w g v erwar srfdrwaw o ad & grfy
A B C D
2003 2004 2005 2006

Go through the table given below and solve the questions 22 — 24 based on it.

Ao areofy 97 smraTiRa w97 22 - 24 FT Jara & |

Table given below gives the Estimated and Actual Sales Revenue and Cost Figures for three years.

Tg FTLO(T ATATAT T ATEATA [ahl ToTed F ARTT JoA, T a1 01 &F T S

Sales Revenue 2007 2008 2009 Cost 2007 2008 2009
IEEIREEE] ARTT
Estimated Estimated
1281 1452 1228 1051 1024
| |
Actua Actua
1326 1286 1452 1076 1068
CIESIEED CIESIEETD

Estimated Profit (SIgAT @T+) = Estimated Revenue (AT TTsTed) — Estimated Cost (ATHT A1Td)
Actual Profit (FTea e @) = Actual Revenue (ATEafash TTstea) — Actual Cost (ATEaas STT)
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22

For how many years, actual profit is more than estimated profit?

TR a areafass T, STETHT AT | $ATaT 8

A B C D
0 1 2 3
23 | A measure of forecasting done by marketing team is the ratio of Estimated Sales to Actual Sales. Lower is
this value, better is the forecasting. Which years forecasting is the best?
T HAA0T 217 o TATTHTH T AT, SAATIAT (o0l T ATEqTa Telshl T ST o FqT3T | T FHT AT ora«r
FH G, TATTAT IaAT =T g7 | o6t o ® QAT 9 o=l &
A B C D
Cannot be determined
2007 2008 2009 .
e At oA ST aekar
24 | Company plans to use a different mechanism for forecasting of its maximum possible profit = Max

(Estimate, Actual (Sales Revenue) — Min (Estimate, Actual (Cost)). What is the maximum possible profit
derived this way?

FUAT IEFT AT TAT ATH F TATTHTT HT U FT TLUHT TI=dT § = AT (ATHTAT, ATeq

(Tt TTTea)) - =Aaw (AAHTH, AT (ARTT)) T TATH T9F AT FAT G

A B C D
None of these
340 401 428 . .
TAH H AL Aol

Read the information given below and solve the questions 25 — 29 based on it.
= &F AT AT F AT T 95T 25 — 29 FT AT & |

Following table provides the data regarding the people who are seeking asylum in different countries. Asylum
seekers: Share of top 15 receiving countries in total number of applications

All the data given in the table below are in percentages. For example, in 2007, USA received 15% applications out
of total asylum seekers applications.

=H GO H 99 o giaad # 8 | TaH 3T AR 6T 9ear g S f&3fss 3o § o7or F18d 8 T Tiorat &1 a7 15
ZoTt =7 2w foam § | SI18¥or 2007 | et srfSra #iv 15 Tiera srferT & wre & |

Countries (3) 2007 2008 2009 2010 2011
USA (srH 1) 15 13 13 15 17
France (ShTH) 9 9 11 13 12
Germany (STH+T) 6 6 7 11 10
Italy (32<tT) 4 8 5 3 8
Sweden (=) 11 6 9 7
Belgium (srfesraw) 3 3 5 6 6
UK (7<) 8 8 8 6 6
Canada (F9TST) 8 10 9 6 6
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Switzerland (Faesieeie) 3 4 4 4 4
Turkey (T#T) 2 3 2 3 4
Austria (siffEza) 4 3 4 3 3
Netherlands (Ffia%eie) 2 4 4 4 3
Australia (sffeeferm) 1 1 2 3 3
Greece (IH) 8 5 4 3 2
Norway (F79) 2 4 5 3 2
25 | USA received 72800 applications in the year 2010. Then the total number of asylum seekers who didn’t
apply to any to the countries mentioned in the table (approximately) are:
FHTYERT 7 a9 2010 H 72800 ST ITH T | T FeF 0T AT ATAT ht 31511, g i Aeoft § f&w v T
T H AT Al AT, Y AT Y
A B C D
37800 36400 38800 40200
26 | The sum of percentage of applications received by the top three rank countries is more than the sum of
percentage of applications received by the remaining countries in the table, in number of years:
I A g AT F F9T F AT T TTTLT T AR, T gU 90T % AT F FA7aT, FhaT aui 7 g
A B C D
1 2 3 None of these
TH | A Al
27 | The sum of ranks of Germany across the given duration is:
Ruauaaar § FaR F F FT AT E
A B C D
22 23 24 25
28 | Between 2007 and 2011, the United States of America received the largest number of asylum seekers =
278800 applications. Then the total number of asylum seekers applications received by France during the
same period (approximately) is:
¥ 2007-2011 § SHIHT &l TATTEE 07 ATE ATAT =l 278800 AT &S | T T 0T § Tid &l
IT AT ATAT %0l T SATSTAT (FAITHT) ITH g
A B C D
Cannot be determined
216000 262800 243900 ;
Rata 7= ar asar
29 | The country which has seen the minimum variation in 2011 over 2007 in the ranking as the destination for

the asylum seekers is:
g <er, FSEH 2011 & 2007 T 907 ATE ATAT T IATH (< AT

A B C D

USA (zra ) France (i) Germany (ST¥T) UK (F<T)
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Go through the data set given below and solve the questions 30 — 32 based on it.

e e ac wearamRa w7 30 - 32 FT TaTa 2 |

Following pie chart provide the percentage compositions of students from a state enrolled in different faculty in
2001 and 2002 whereas bar chart provides total number of students between the years 2001-2004.

% 97 AT UF TR § 9 2001 7 2002 ® fAtH= oot § avferer foro g v wihea w=aT fawrar g, sats
T =Te 2001-2004 TF FT BTAT %I Fe&AT (@1 g |

Year 2001

Medicine, 12% Pharmacy, 7%

I Agriculture, 8%
‘ Science, 16%

Commerce, 24%

Arts, 13%

Engineering, 20%

Year 2002

Medicine, 10% Pharmacy, 9%
Agriculture, 5%

Arts, 11%

Science, 22%
Engineering, 19% ‘

Commerce, 24%

Following bar chart provides the total number of students from that particular state across four years — 2001 to
2004.

frefarfea am =1 & =12 9, 2001 & 2004 T 39 &HAT 757 F T FIAT AT HEAT I ATAL E
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Answer all the questions based upon the pie charts and bar chart given above.

T fU T 9TE =T F 9T AT U7 AT 3T F#7 39T E |

30 | In which faculty there was decrease in the number of students from 2001 to 2002?
o farerr # 2001 & 2002 T ST T 497 FH g5
A B C D
None (FTE 7g) Commerce (FTHH) Agriculture (FT) Pharmacy (FTHT)
31 | What is the ratio between the number of students studying pharmacy in the years 2001 and 2002
respectively?
ETHHET oo # AT AT F=AT T 2001 7 2002 H FAT AT AT
A B C D
4:3 41:72 2:3 49:72
32 | What was the approximate percentage increase in the number of students of Engineering from the year
2001 to 2002?
TSN | STAT 7 547 it a@d 2001 7 2002 T AT 6 Tiqerd 7 g3
A B C D
13% 5% 9% 14%
33 | If x and y are positive integers such that (3x + 7y) is a multiple of 11, then the expression divisible by 11
is:
T X TAT y U FATHE UITH & 1 (3X + 7y), 11 FT IO § a9 =9 § FI7 |7 At aaf 11 7 9157 &
A B C D
4x + 6y X+y+4 X + 4y 4x — 9y
34 | The Highest Comon Factor (HCF) of two numbers is 11 and their Least Common Factor (LCM) is 693. If
one of the numbers is 77, then the other number is:
T2 3T H&ATU FT IFAH 3MH FH 11 & T ITHT TaH AH F14F 693 g | A3 UF &A1 77 § a9 At
AT g
A B C D
96 99 89 33
35 | The product of the Least Common Factor (LCM) and Highest Common Factor (HCF) of two numbers is

24. The difference of two numbers is 2. Then the numbers are:
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TS I7 H&AT FT IFAH AH HLH 9 AIAH AT HILFH FT I0F 24 § T IF1 ST HT siqe 2§ a9 a8

TEATE FATE
A B C D
2 and 4 (2 3T 4) 6 and 4 (6 < 4) 8 and 6 (8 1< 6) 8 and 10 (8 =¥ 10)
36 | In a certain office, % of the workers are women, % of the women are married and % of the married women
have children. If % of the men are married and % of the married men have children, then the part of
workers without children are:
U AT |, A(Q FEAT FT 1/3 A ARATH 8, T AIGATSAT #0f 1/2 91T Fartzd 8, T 1/3 91T fFarea
HiZATSA % g &, ITT 3/4 9T [0 FHI [@AaTied 5,  2/3 9 FFared 2ol & a9 8, 9 uH foa" anr
ERIEAEREXE REIEE
A B C D
11 10 13 15
18 18 18 18
37 | Inacaravan, in addition to 50 hens there are 45 goats and 8 camels with some keepers. If the total number
of feet be 224 more than the number of heads, then the number of keepers are:
T Aol | 50 HIT 45 T 9 8 e & ATl T, T@aTol § | AfS 927 & ot weear, B i e & 224
FATET g OF T T@aTel fohad g :
A B C D
10 12 15 18
38 | The number of students in each section of a school is 24. After admitting new students, three new sections
were started. Now, the total number of sections is 16 and there are 21 students in each section. The
number of new students admitted is:
U T § g2 AT & 24 99 8 | T1 70 ST WAl 7 6 A& o1 A0 (G0 G 0 | 7 e foramr
FTHEAT 16 £ 9 22 [A9RT & 21 a9 8 | 990 97 AT g0 ST il §EAT FT &
A B C D
14 24 48 114
39 | A trader marked the price of his commodity so as to include a profit of 25%. He allowed discount of 16%
on the marked price. His actual profit was:
T SATITT (O Tah aeq T Jod UH fufrga wear g 6 398 25% oo g | 39 f=fga a9 o 3899 16%
&1 g2 <T | T IHHT ATEATAT ATH FAT 2
A B C D
5% 9% 16% 25%
40 | The least square number which is exactly divisible by 10, 12, 15 and 18, is:
g qaH Frel JeaT ST 10, 12, 15, 18 & 31 3iF A g F78
A B C D
400 900 1600 729
41 | Acando a piece of work in 7 days of 9 hours each day and B can do it in 6 days of 7 hours each day. then

how many days they will take to do it, working together 8 hours a day:

A TF HTH &l UA 9 5 Feeh 7 ad § T FTar g Tai B 7 5 UF Feah 6 ad § T F:2ar g | I TEf
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e 8 =T T FTH 7, T dg ohad (o | HTH T H:
A B C D
5 days (5 fa=) 2 days (2 fa=) 3 days (3 fa=) 6 days (6 fa)

42 | A train running at 54 kmph takes 20 seconds to pass a platform. Next it takes 12 seconds to pass a man
walking at 6 kmph in the same direction in which the train is going. Then the length of the train and the
length of the platform is:

UF TAMTET 54 FoRerHie I =eT i TR & TF ehid I T FT § 20 ke ol g | e I8 U
ATHT ST 6 Toretrftes sfa ser ifq & ST fRem § S1 w1 8 Swd  W@rst ST @ g F1 I Far g | aa
TATET T THETE T TehH $iT T =TE 2
A B C D
(160, 120m) (160, 130m) (160, 150m) (160, 140m)
(160, 120 Hte) (160, 130 H=) (160, 150 #iev) (160, 140 HT=)

43 | A man can row 40 km upstream and 55 km downstream in 13 hours. Also, he can row 30 km upstream
and 44 km downstream in 10 hours. Then the speed of the man in still water and the speed of the current
is:

T SEHT 40 TR 9T & Yiada 7 55 fRerHies 9T & 979 13 e § 979 91 9haT g a7 a8 30
R TeY oTeT & Yiadar @ 44 TReHies 9 % 97 10 5 § 979 9T 9hdT g ad SEHT ahl T 9d
qTHT H 7T Y T AT
A B C D
(8, 3 kmph) (8, 4 kmph) (8, 3.2 kmph) (8, 3.5 kmph)
(8, 3 Farefi/=raT) (8, 4 forefi/=ieT) (8, 3.2 Ferefi/eraT) (8, 3.5 ferefi/ereT)

44 | A sum of money amounts to Rs.6690 after 3 years and to Rs.10035 after 6 years on compound interest.

Then the sum of money is:
Feg 99T 3 AT H TRl 4TSN F 6690 I ZrAT & 9 6 ATer | 10035 ®9IX g1 ST g, I a8 F&T Fohaar
IqT:
A B C D
4260 4360 4460 4560
45 | Ifa=b*,b=c” and c = a? then the value of xyz is equal to :

FfTa=b% b=c, c=a’ T xyz FT AF NI

A B C D

-1 0 1 abc

46

The cross-section of a canal is trapezium in shape. The canal is 12 m wide at the top and 8 m wide at the
bottom. If the area of the cross-section is 840 sq. m, the depth of the canal is:

T TgL AT AT FIE TAH AR FT &, T HIL T 12 Hle Alel 9 | 8 Hle Alel ¢ | S Tqaed
T T &% 840 FRTHTaT & AT qT T TgLTs FAT 8

A B C D
8.75 m (8.75 Te) 83 m (83 Hiex) 82 m (82 Hiex) 84 m (84 H1e)
47 | The radius of the base and height of a cone are 3 cm and 5 cm respectively whereas the radius of the base

and height of a cylinder are 2 cm and 4 cm respectively. The ratio of the volume of cone to that of the
cylinder is:

T ST T AT T ASAT F SAT wmAer 3 AT 9 5 HHY g At FeAT 7 FATE, TF AT i HmH: 2 HAT
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T 4 HHT g | T 9F & ATAT HT SAT o SAAAT T ATATT FAT T

A

B

C

D

1:3

15:8

15:16

45:16

48

A clock is set right at 5 a.m. The clock looses 16 minutes in 24 hours. Then the true time when the clock
indicates 10 p.m. on 4™ day will be:

T TS qag 5 a9 ¥ & A T | A=Y 24 5 F 16 e T g vt 2 1 7f% 4 faw % arw 7= 7 ¥ 10
FIATAT § TS IH THT ITHT ATEA (S THT FAT T :

A

B

C

D

11 p.m. (11 3r9T=A)

8 p.m. (8 IIT=A)

9 p.m. (9 AITTEA)

12 p.m. (12 92TEA)

Study the following information to answer the questions 49 — 53.
95 T[T AT TEEHT 39 I AT T 49 — 53 FT ST & |

Seven friends P, Q, R, S, T, V and W are sitting in a straight line facing north not necessarily in the same order.

Ara AP, Q, R, S, T, V 3T W U #fVeft Y@T § 3¢ T 3T 95 § A&l A5l 1o THT 77 H g

T is sitting fourth to the left of V.

T,VHFIMHFIAT T ITE |

W is sitting to the immediate left of T.
W, TF TEqamd § J275 |
Q is sitting third to the right of W.

Q, W & 370 &Y #9 X 927 5 |

R is not an immediate neighbor of Q.
RQF FATEHHALI g |
S is not an immediate neighbor of V.
SVFTAI=Ed A5l ¢ |

V does not sit at an extreme end of the line.

V 3@ & et | o e 1w T@l d2r gl

49

Who amongst the following are sitting at the extreme ends of the line?

= {30 T | 1 &R @1 % 6 d T I 9S8

A

B

WP

WR

50

Who amongst the following is sitting second to the right of S?

BEEEEIEEEUCEE2 L e R C i

A

B

\%

Q

C
)

lw)

51

Who amongst the following is sitting exactly between T and Q?

FadasamTaQF IrFdfia dasr !

A

B

C

w

R

S

52

Who among the following has as many people sitting to this right, as to his left?
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9 # & Foheeh <10 9 970 Sa? 66T & AN 95 3
A B C D
S P Q R
53 | Who amongst the following is sitting third to the left of \V/?
FEdTaEVFam e S&F I as g
A B C D
R Q S P

54 | 30 persons are sitting in a row. Find the number of persons sitting between 9™ person from left and 16"
person from right.

30 FRT U YT H §5 ¢ | Fohae 7 970 & 99 97 9T 95 MeHT T I 167 Fa¥ 9T 45 eHT F i+
g

A B C D

8 4 3 5

55 | Ramesh’s father says to Ramesh, “My father has a daughter, whose son is Amit.” How is Amit related to
Ramesh?

TN F TOaTSit 7 THer F gt "W fOarsit 7 U o7 g et qer atwa g 1" A0 7 /T F A7 qrae
EF

A B C D

Mother (HT) Cousin (F=TT 9TS) Sister (s72) Brother (9TS)

56 | Nandani is the only daughter of Madan’s sister Sangita’s brother. How is Nandani related to Madan?

wad T T GIAAT F ATS T THATAT ol ATt gl AT T Taq & 47 qraee g ?

A B ¢ 2
Ni Daught
Daughter (31) Niece (wTsiT) Cousin (= &) If:;(;rf magg%) y

Study the following information carefully to answer the questions 57 — 61 given below.
95 F=AT FT 479 § 9EHT T 57 — 61 FT A1 4 |

In an examination, six subjects were available for a candidate of which only three had to be offered under the
following conditions.

U T | Uah I IEaT &1 6 fawa Suerser o e & e Aoy A% o & a7 forg ST a6 8
(i)  One who offered A had to offer B also and vice-versa.
Ttz A T o ar B «ft @ g 7 oo & & off 75t g

(i)  One who offered A could not offer E.
Tf% A oraT & 47 E 7t o w0 |

(iii)  One who offered C or D could not offer F.
TfE C AT D AT § T F 75! of el |

The distribution of the candidates over the subjects was as follows.

SHIEART 7 fAawor A F A 36 TF R g

A-70;,B-70;C—-90; D-85;, E-70; F—35;

57 | How many combinations were permitted?
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TR At T srafa ot
A B C D
4 5 6 7
58 | How many candidates in all appeared for the examination?
THAT § Tl T @A o
A B C D
120 130 140 380
59 | How many candidates offered the combination A + B + C?
fhae SHEar 7 A + B + C T 5T Y&q19 [T
A B C D
15 20 35 70
60 | How many candidates combined C with D?
fraer SEamr < C & D &7 ¥ AT
A B C D
15 20 35 70
61 | How many candidates offered B with F?
Tohaer SHEaTr 9 B % 97 F &7 9 FohaT
A B C D
15 20 35 70

Study the information below to answer these questions (62 — 64):
T3 AT FT TZHT T (62 — 64) FT AT < |

L, M, N, O and P are five important cities of our country out of which, three are industrial cities, two are port
cities, one is a hill station and three cities have a university each. Every hill city has a university but has no port.
‘O’ is not a port city. No port city has a university. ‘M’ is a port city. Two industrial cities have universities and
‘N’ and ‘O’ are not industrial cities. The industrial cities with universities don’t have ports. None of the industrial
cities is a hill station. ‘O’ is a hill station and ‘P’ has a university.

L, M, N, O T PgHTL 39T % 5 H&T 9g< g Foaw & i =R a8 8, a1 9308 ¢, UF UgTel g ¢ oY o
gl ® U v fAfemera 8 | g7 ugtET auY ¥ us fAfeEnes § ¥ FrE dawng 981 | O §1whg A%l § | 5wy
# fafoaemer 781 & | M saarme 8 | 21 iR age # ffemea & o N 7 O sirenfis g 7gl § | sf=nfies
e o Ao & sad dewme et | A ff sienfis e ugrstagie | O wgrsrgd P H s
EIEEIEE S

62 | Which city has industries as well as a port but does not have a university?

T | SRR 98T H a20g § T [ raead 9gi o ;

A B C D
LandO/L3TO Oand M /O M M N
63 | Which city has neither industries nor a university nor a hill station?
T AT &TgY 7 T =R 8, T 3940 Afaamaa g, 7 &7 9 ugret a8 g
A B C D
M N L P
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64 | Which two cities have ports?

I H AU H I 8
A B C D
Land M M and N N and O N and P
L3 M M 3T N N 3T O N 3fiT P

Study the following information carefully and answer the questions (65 — 71) given below it.

5 G=T 7 AT @ 9@ H 9o (65 - 71) F A | |

Following are the conditions to appoint a Distributor for petroleum gas throughout Delhi:

g faeeft # ugtfersw i % faawe it fagfte = forg e ad 2

The applicant should ----

(i)  Bean Indian by nationality.
ATEA T AT ZET ATRT |

(i) Bein the age group of 21-50 years on 5™ September, 1997.
5" fRrareT 1997 #1359 ¥ 9 21-50 a9 F = 2T |

(iif)  Be minimum Matriculate or recognized equivalent.

FH T FH A1 ITE AT IHF THH 2 |

(iv) Be aresident of Delhi for not less than 5 years immediately preceding the date of application.
arerae =t fafer % qEa qge, el # AT 5 |97 § F7 78l af |

(v) Have family income of not more than Rs.50,000 annually.

qTRETIER S |TAT F90 50000 & 72 727 27 |
(vi) Not have any dealership in any oil company.
et qet et H S ST T2 2 |
(vii) Have no close relatives as a dealer / distributor of any oil company.

et e o=t | TS Aerarent feaeme off S/ B agi 2

(viii) Restrictions relating to annual income, would not be applicable to persons working in corporations, owned
or controlled by state government, but the case shall be referred to the Managing Director.

TTATAT AT FT o7, 3T AR I AR A1 R ST 5T TR T AT A § 0 F7 g ¢ T ad
Fg FE Ty FAer T AT ST

(ix) For unemployed graduates, conditions at (vi) and (vii) may be waived.
AT FTART T 90T (Vi) T (Vil) TR A1 g |

(x) If a person belongs to SC / ST but is not a resident of Delhi, the case may be referred to the Chairman.
T2 FE IHIEATE SC/ ST 8, T (Seel &1 Tg ATAT A5l § TF SHAT vF AFLHT il HS(T ST |

On the basis of the above conditions and the informations provided against each applicant, decide which of the
following courses of action should be taken.

YL &A1 d AT 9T, BT IFHIEATE T2 0T (01 Fars v o (95 Setaarr &7 #47 IR0 g

Mark answer (A) if the applicant is selected: (B) if the candidate is not selected: (C) if the case is to be referred to
the Managing Director and (D) if the case is to be referred to the Chairman.

rfeaa il (A) 7t sefream 1 === R (B) #fe swfigam &1 =9+ 981 2 (C) Tf= 9 &1 wayr A
T TS 8 ST (D) TS FF HT AFHA ] AT
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65

Amandeep is an unemployed graduate who has been living in Delhi since 1987. He is a citizen of India
and his date of birth is 2" February, 1974. His father is the only earner in the family drawing Rs.800 per
month.

FHALNT SIS HTqF g ST faoetl § 1987 | ¥ @7 ¢ | 98 AT AW g T SHehl A (i 2
FET 1974 8 | 39 T9AT &1 hae IETe § o5t § 9 800 FIT Hg AT FATd § -

66

Kishan Gopal born on 22™ January, 1967 is an Indian by nationality. He is a matriculate having
dealership in Tamsha Qil Company. His family income is Rs.21000 per annum and he is a resident of
Delhi since 1978. He has no close relatives as dealer / distributor in any oil Company.

TR9TT ITTITer, 22 STAaT 1967 FT 70 F AT ANGF 8 | a8 §w 919 & F q0IT a ol | Sra< g |
I TATT i AT Ff 21000 T ATATT 8, T faoett § a9 1978 | T2AT & | SHET IS Avaihl R9darT
eI e b I BT S R s R T o

67

Balvinder Singh working in the State Corporation is an Indian by nationality and is 23 years of age. He is
a graduate and his family income is Rs.60000 per annum. He has been in Delhi for 7 years. He does not
himself nor has any of his relatives working as distributor or dealer in any oil Company.

Fofaex ffg, 23 aufia AT AWRE, UF UST oA § 19 Fq7 ¢ | 98 |G g F 386 Trare i
AT 60000 FIT FTATHT 2 | 98 fUsel 7 91 7 faoeit § @ W 8 | 7 a7 98 T 7 & ST dls (XedaT
Freft 91 et ° e / A B

68

Chaluka, an Indian resident of Mumbai, is a matriculate with a family income of Rs.20000 per annum.
His date of birth is 15.3.76. He does not have any dealership is any oil company nor has any close relative
as dealer or distributor. He is an SC candidate.

ATAFT, IS | L@ aTAT WA, Hieeh IT9 g T SEhT GIRATI STATET 31 20000 €T g | IHAT 7
Tt 15-03-76 T | 7 ST, T &1 3Tk e AT Reqare i Foreft I Faet i SrafoT / fFaw 2 |
g UF SC IHEATX T

69

27 years old Indian, Naresh Saini is an unemployed graduate and a resident of Delhi since 1988. He has a
family income of Rs.16000 per annum.

27 T AT LT ST IS ®TaF 8, 7 faeett § a9 1988 & ¥g 2T ¢ | 36 ufeare &t s 16000
FIT FqTATAT &

70

Pran Chaturvedi working in Haryana State Corporation, has been living in Delhi for 5 years and has
passed Senior Secondary. He is a citizen of India born on 13" June, 1973. His family’s annual income is
Rs.75000. Neither he nor any of his relatives has a dealership or distributorship of any oil company.

ST FAqAal, ZRATOT 5T 5759 H FHl, faee! § 5 q9 | ¥ @1 § 9 SI97 dahed 99 g | 98 9y
ARTE & & 13 [ 1973 &1 TR g | I TRET il A1em=T 3 75000 79T 2 | T a8 Gg, T ol 370! Fls
Torareht fredame fFeft o= ot § S/ fAaes B

71

Maninder Vohra, aged 33 years, is an unemployed graduate and an Indian by nationality. His family
income is Rs.55000 annually and he has been living in Delhi for 12 years now.

AfHET a8, 33 T UH dLSIT |1d% g, d AIEAT AEMH g | I TRETT &l FTAET 3 55000
Ul ag R ¥ 12 a9 @ T8
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Read the following information carefully and answer the questions (72 — 76) based on the given information.

95 =T 7 &A1 @ 9@ 9 (72 - 76) F AT < |

Following are the criterion for admitting a student in a Medical course.
T T3 %] HISH HIH H AT g ol {98 o &
The student must----

(i)  Have passed XI1™ Std. Science examination with Biology and have secured at least 60% marks.

FIEAt FeAT | A= T qUEvArSt &9 F AT FHH FH 60% F I AT AT |
(i) Beof 18 years of age as on September 1, 1994.
1 ToawaT 1994 T 18 a9 FT 37 |
(iif) Have obtained 70% marks in the entrance test.
T TLAT H 70% i g AT 0 |
(iv) Be able to pay Rs.20000 at the time of admission.
T % FHT 20000 FAT I F ATAF g1 AT |
(v) Inthe case of a candidate, who satisfies all other criterion except at:
(iii) above, but has obtained 90% marks in the XI1™ Std. Science examination, should be referred to the
Principal.
i 12 T a9t ord @& (iii) F T FAT § I ST aegdal w47 & s 98T § 90% e g ar
T fRraer =1 = 9= ST |
(vi) Inthe case of a candidate, who satisfies all other criterion except at:
(iv) above, but can pay Rs.10000 at the time of admission, can be provisionally admitted.

fram (iv) %, 9%+q 10000 ¥IT STHT FIAT g A7 IHT TAT AFTAH 3hT STOIAT |

You are given the following cases as on September 1, 1994. Depending upon the information provided in each
case and based on the criterion mentioned above, recommend your decision.

AT T 1 A 1994 1 9T 4 U T g | SUTred ordt 9 AT ST g€ Uk FE 97 9T Aoy &

Give answer (A) if the student is to be admitted, (B) if the student is not to be admitted; (C) if the student is to be
referred to the Principal and (D) if the student is to be admitted provisionally.

AT I (A) Ffe B it aff geT & (B) T g Y T gt 2t 8 (C) Ffw e Fiffraer v s § 37 (D)
7T g it et sfaw T 8.

72 | Ashok Garg was born on 3" QOctober, 1973. He has secured 90% marks in the XII™ Std. Science
examination with Biology and 60% marks in the entrance test. He can pay the admission fees of
Rs.20000.

LT TN T SR 3 STFga¥ 1973 T ol | 39 argdl & | s 7 anaraisit § 90% 3% I 7 60%
AT TLAT H o | 98 Ta¢T i e 20000 9T § HHAT &

73 | Asha Thakur was born on 20" October, 1975. She has secured 68% marks in her XI1™ Std. examination in
Science with Biology and has secured 75% marks in the entrance test. She can pay the admission fee of
Rs.20000.

ST STEHT AT ST 20 FTFZAT 1975 T g1 | I T AT HET 6 (AT T arATArSit it TeT H 68%
3 T Foh0 7 srarer 98T | 75% 3 A0 | a8 TaeT Tt i hie 20000 FIT T HRAT B
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74 | Pankaj Goel was 17 years old as on 11" September, 1993. He has secured 90% marks in his XII" Std.
Science examination with Biology. He has secured 75% marks in the entrance test and can pay the
admission fees of Rs.20000.

ST M 11 Frawae 1993 T 17 99 FT g3 | IHA argdl FeAr i [&sre aiedr (Frarsit & qren) |
90% i ITH TR | I| Saer TEreAT § 75% i YT R0 T Yerer areT s e 20000 #9707 & ThaT g

75 | Rakesh Yadav was born on 4™ July. He has secured 80% marks in the entrance test. He has secured 85%
marks in the X11™ Std. Science examination with Biology. He can pay the admission fee of Rs.15000.

TIRST ATET T STeH 4 S[ATS [ T AT | IHh T TLHAT H 80% i o | 3T agdl weA1 § faam v
TLTEAT (STATATSH % A7) H 85% 31 3T | 98 Tarer e 15000 FIT TF & TFdT G -

76 Meeta Chandra has secured 70% marks in the entrance test and 60% marks in her XII™ Std. Science
examination with Biology. She can pay the admission fee of Rs.20000 and was born on 7™ November,
1978.

HIAT =aT 7 T3 TEHAT § 70% 3 S (ot aregal w7 (S f&3ame & |rey s v adrem) § 60%

3 9Te o 8 | SEeht Stew Aty 7 999, 1978 € | a8 20000 F9T T AT ¥ T 3

Read the following information carefully and answer the questions (77 — 80) that follow:

95 =T &7 479 @ 92w T (77 - 80) FT 54T < |

There are four married couples in a family. Each couple deals in different types of business, i.e., Furniture,
Garments, Jewellery and Publishing. The male members of the couples are Ashutosh, Prem, Rajiv and Pappu. The

female members are Rosy, Rinku, Rupu and Nitu. Once they were invited to my house on the occasion of my
son’s birthday. Each couple came one after another.

U IRER § 9% FarEd e 8 | 83 SET 0T 3o a¥g & ATI § g SF 1=, F9L, a7 F hara graEr |
ST % &9 TaE1 % 910 g ST, SH, Teia F 997 | STafh AT Taei % 917 g Toft, ¥, €7 7 A | v
T T AL 9 F 77 (a7 & Faa 9T 7Y ° e B T | g2 ST uF g8e & are v |

()  Rajiv arrived immediately after the couple who deals in Garments but immediate before Rupu.
TN 39 SIS & A aT& AT ST FHAES T AT HdT § T ] F T T2 |

(i)  Premarrived immediately before Rosy.
S TS o T Tl AT |

(iii) Pappu deals in Books.
oo fehaTat T 18 Far g |

(iv) Ashutosh arrived immediately before Rinku (who does not deal in Furniture). Rinku arrived immediately
before the couple which deals in Jewellery.

sy R & A T8 AT, ST FATAL FT FH Tl BT g | BF 39 S § A T8l A>T ST a2 H7

FIH HLAT ¢ |

77 | Who came after Ashutosh?

STYLATT o 1T I AT ?
A B C D
Rajiv (TTs{19) Pappu (T57) Rinku (F¥) Rosy (TTf)
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78 | Rosy deals in which business?

Treft oy = | oY g 2
A B C D
Furniture (=) Garments (F72) Books (feraTe) Jewellery (SrE)

79 | The two females who deal in Furniture and Garments respectively are members of the couples who
arrived at the following order....

T [IEAT, ST FATAL T FIS HT FHL: AT FLAT 8, IH AS 6 HaeT g AT (9 F77 | 00

A B C D
land 2 2and 1 land3 Can’t tell
13T 2 23471 1373 Fg qol aFd
80 | Which of the following statement is true?
% § o &I 97 927 951 g2
A B C D
. . . . . Nitu deals in Books
Rupu deals in Garments Prem deals in Jewellery | Rosy is the wife of Rajiv y 3 S e
o i F A AL | oA i S & | ST Ay | et 8 e

g

81 | Inarow of thirty-five children, M is fifteenth from the right end and there are ten children between M and
R. What is R’s position from the left end of the row?

THUFH 35988, MIW AT T 15a1 2T M TAT R F &= 10 99 ¢ | R &t Rufa amd fe & w77 82

A B C D
15" 50 30" Data inadequate
15 at 5 af 30 &t ST HTATH &
82 | Roshan is taller than Hardik who is shorter than Susheel. Niza is taller than Harry but shorter than Hardik.
Susheel is shorter than Roshan. Who is the tallest?
TN, BTiash & T 8 S qefier & grer 8 | Ao &8 & oy g, viq 2rfes & = 8 | qefier Troe & grer
% | Tl T A 32
A B C D
Roshan (ZTerT) Susheel (FefteT) Hardik (gTfs®) Harry (25)
83 | A’s father has a son B who has an aunt C, whose husband is X, Y is the father-in-law of X. How could be
Y related to A?
A % T9aT &7 =27 B g fSraeht atidt C g S afad X g, Safsh Y, X & 992 ¢ T Y &7 9%+ A | F7 872
A B C D
Grandfather (3TaT) Son (s2T) Uncle (3T=T) Grandson (9TdT)

84 | Pointing to a photograph, a lady tells pramod, “I am the only daughter of this lady and her son is your
maternal uncle.” How is the speaker related to Pramod’s father?

T Il il SR Fd g0 U ST F THIE T Figl “H 7 ST 6 THA 921 g AT IHHT AT TR qHT
& T T ATt S HT THI & 9T 8 F7 g7 g2

A B C D
Sister-in-law Wife Either (A) or (B) Neither (A) nor (B)
k] Rkl (A) T (B) (A) 3T (B) FHT AR!
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85 | Inthe given series, one of the term is wrong. Find that one.
= &7 oot §, uF qg T g | T8 FATE?
2,3, 8,63, 3962.
A B C D
3 8 3962 63

Read the following information carefully and answer the questions (86 — 88) that follow.

95 AT SATHIET T2 T T°T (86 — 88) FT IALS

Ajay would do five tasks: A, B, C, D and E: starting at 9 am in the morning. A is the first task and takes 2 h. B can
be done after A is complete and requires 1 h. Work on C which would take 1 h can start only after A and B are
complete. Ajay can do task D along with B and C and would take 3 h for that. Activity E with duration of 1 h can
start on completion of A, B, C and D.

AT 5 FH FL TFaT g: A, B, C, D, T E | g 9 T § FTH & F2aT ¢ | A TZaAT FTH & < 3T & 5 O 5
| B, A% QXTI & dT& FohaT ST d%haT g 9 397 1 HeT aRaT & | AT B & T 21 % 18 &f C 9% & 9%l §
Rread 1 Fer T g | 95 D 18 B 3% C % a7y ft FT qhar ¢ Forad 39 avd & | A, B, C, D F @cH g
1T ET E FTH <= g1 FhaT & foraH 1 el @Rmar 2 |

86 | What is the earliest time when Ajay would complete C?
g aa9 oft e T9FT FAT T 9 AT C FTH GeH HT
A B C D
11 am. (11 gaten) 12 noon (12 H&ATEA) 1 p.m. (1 3T 2 p.m. (2 FILTEA)
87 | If Ajay takes 2 hours for B and completes other preceding tasks without delay, when can E start?
Tf% o7rr B % o1 27 =T o1aT 8 9 9 W [T 3% i Q20 F7aT & alE Fd % FT 95dT &
A B C D
12 noon (12 H&ATEA) 3 p.m. (3 AILTEA) 2 p.m. (2 AILTEA) 1 p.m. (1 TITEA)
88 | What is the earlist time when Ajay can complete all tasks?
g e Sf TS THT FAT T T STS1T T HTH T FHT AT &7
A B C D
4 p.m. (4 FATTEA) 3 p.m. (3 IILTEA) 2 p.m. (2 ILTA) 1p.m. (1 3ITA)
89 From my house | went 15 m to the North, then turned West and covered 10 m, then turned South, and
covered 5 m. then turned East and covered 10 m. In which direction am | now from my house?
H o 7 & 15 Wiex I AT A 19T, T qf209 1 T {2 T 7 10 Hiew s g a =t [ aferr
T AT {E AT ST 5 Hie i g a9 61| T/ 0@ 6T AT {2 TAT T 10 HieT s g a7 *rl # o1 9+
T B fRar H g2
A B C D
North (3%) South (=feroT) East (T9) West (Tf219)
90 | A person starts towards South direction. Which of the following orders of directions will lead him to East
direction?
T <k IT&707 (ST 3l AT 4 gral g | Mefered Haen & & &I 97 39 94 Q97 &t 3 of ST
A B C D
Right, Right, Right Left, Left, Left Left, Right, Right Right, Left, Right
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274, 27, 20 T4, a0, 914 qrd, 274, =0 24, 974, &4

91 | ThelettersL, M, N, O, P, Q, R, S, and T in their order are substituted by nine integers 1 to 9 but not in
that order. 4 is assigned to P. The difference between P and T is 5. The difference between N and T is 3.
What is the integer assigned to N?

SR FAH L, M, N, O, P, Q, R, S 3T T o1&7< &l AT qultsh 1 & 9 T WiaeATToa T SITar g ot 39
FHH Al P &I 4 WAT AT P 3T T o &= &1 3d¥ 5, N 3fi¥ T % &= &1 3{d¥ 3 g1 N ¥ fea

T FAT 5 ?

A B C D
4 5 6 7
92 | Communication is a part of which skill?
=T TR sreToraT &7 fRer 22
A B C D
Soft (A7) Hard (F3T7) Short (ZT=T) Good (3r=T)
93 | You need to apply for leave. Which method of communication you will use?
ATTHT GET o o1 SR AT & | AT o (o7 31T FIT TERT AR F31?
A B C D
Poster Blog Newsletter E-mail
ey AT THTATE T A
94 | What does an upright body posture conveys?
9T T TV T FAT TATET FLAT 52
A B C D
Pride Professionalism Confidence Humility
ELE REGUREXI Ersare IEREGH
95 | Which communication involves “treating people like objects”?
FI AT HATT FACAT /T GG T T v g2
A B C D
Impersonal Interpersonal Human Obijective
EEDIRE] TRET LIGE] FEAE

Read the following paragraph to give your decision:

8 GTITE FT URE IHH AT A T

The smaller pesticide formulation units in India operate under heavy constraints such as obsolete technology,
small scale of operation and dependence on large units for raw materials. In view of the loss of expensive material
by the smaller units it is important to either eliminate or reduce losses to the extent possible through innovative
and sustainable waste minimization techniques. Operating profit margins of the units are very low and small
adverse conditions land these companies in trouble, Maximum losses suffered by these units are through poor
housekeeping, sub-optional operating practices, and lack of proper opportunities for recycling waste.

FreATerRt T GIET THRTAT AEd § T TATS § HTH FTAT g N9 [T ThAlh |, BT TH T FHEATS, TAT TET

THTSAT ¢ FgT AIA qT il [H9AT | FIeT SHISAT H T AT hl a9l & gIie 6 H0 Ig A&l g o6 78 g
AT oY TqT FA THGT T FHH FLA l Ahel 19 I T Al HH FL < AT GH gl FT & | TATAT ATH HHAT 39

THTSAT AT FH g TAT BT GIeT i qamd =7 TRl FF AT § STt 8 | @3 gISEhifoT |, gahieud
AT TATT TAT SIS T T FH0T I AAHL 0l HHT o0 HILUT ATTHAT ST 2l Tl gl
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Mark your answer as:
s I ferfeea i
(A) Ifthe inference is ‘definitely true’.
T T ‘g del & |
(B) If the inference is ‘probably true’ though not definitely true.
A ATATT “ATTZ FT & T T A Tl |
(C) If you think the inference is ‘probably false’.
T ST TS TAqT 2 |
(D) Ifyou think the inference is ‘definitely false’.
T AT T AT & |

96 | Poor housekeeping is not reflected due to maximum losses.

ATEFHAH THHATH o AT G GTSHDITUN TEATed Al gl & |

97 | Recycling of wastes through modern techniques can set off large part of the losses incurred by the smaller
units.

AT TN T FAL KT TR AT SHTSAT H ZI 7 a2 8T i q2UTE 7 TohaTe |

98 | Pesticide units should necessarily be on a large scale to make them economically viable.

FIEATT THTSAT FT ATIF T F TAZE 219 o [T AEeTF: T 92 TH 9T gAT AT |

99 | Waste management process in India needs modernization.

AT H FAL T TG T AL H0T S o0l AELTHaAT & |

100 | Lack of funds compels smaller units to ignore house keeping.

&1 T FHT, FIET THTSAT T GTSEDITUIT ol AT ST HTd I AFLL FLAT B

*kkkk
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ST T ATTHT A T [EAHT Gl H1 T Fgl S0 Jd T @it

& FeT=er TR WA FaT o7 qag AATT / e wHtead TE R T, wTerT e A

2020
TeEiee ZFe H T IEaET (FE: 02) A

qHT © ql A quTie : 200

10.

11.
12.

e

Tt TEEAT TET B o qEd T8, AT TH LA [REART T TS STa97 FT of 36 T08 Frs &7 T, BT 47 FeT gar

T STAAT AT TS T &7 | TS VAT 8, AT H Al TeA0 [Rdet & Fae Ao |

FOAT €T ¥@ {3 3. TH. AR, SA-T5F ¥, I=a T 9, TS Ja7, 362 Fahole AHA A, B, C T D T e HeT &,

e | ud oA R T A et F 9 sfT Teag we A SreRer SeHiEa #i § | SEEa g Eed |9,

A T AT IAT 6 TAT TedG & HIEO IAL [EAHT & &6 [0 TT 2T | (S e TS T2 AT IHRT IAL-TTH AT

AT Tl HAT SO S 39 &g fAwea / |t & feam s |

TH I IREAHT 9T 910 | U T0 F79F H SAIEH AUAT AT A

Fa¥ for@=T T aeAr qiEdet 97 o Fg 7 o |

TH T IEawT § 100 weAier EaT oY st a1 § 9 8 | To4F I § 9% T (399) [uaw g | =29 7 s

TIAY (ITT) FT I o, TOH AT ITL-T% 97 ifohd FTAT ATgd & | AT SIahT TAT 9 o U & e[t Iogme (IT9)

WA &, T 6 TeATL (ITT) T SAfohed ot ST AT HATTH AT |

AT ST FT AL (ITY) AT | &0 70 ITL-T57F 92 ¥ Tohd F2 8 | IAL-00 # 3w 0 fAaer 3T |

Taft ol o 3 THTE E |

THH g o ST qEreqvr qeaent & fafsre weiel & Yo (STY) SAL-T T STehd FHAT 9% HY, ATTHR SISAATE (1T

T JA9T T H & TS T2 F Aqa Fg G STe-aaF H 3T ¢ |

AT S AT TN AT IAL TAF | AL o AT TAT TEHEAT F FHIT I Fad G IAC TAF FLe0F H H1T & | AT

O | T AT 3T STL-TF 0l SFHIGATL T o ST il SIAT 2 |

g FTH o o7 T7F & 3T § o7 2 |

T Il & o dE

FEIY ToF T § SHIEAT FIT 720 10 7erq 3921 forg & oy SR |

(i) ST T F oI A Jafoqs IY &1 SFETT g1 Y& T & v &7 77 s Toq 397 & e w7 gq Haa
TR0 T ST T U fAgTe &2 F ¥ § FHTeT ST |

(i) =f% e sefieam uF ¥ sfes S92 3ar 8, 978 Tod ST qIHT ST0T, TR {30 70 399 § F U 39 aergrar
&, T2 ofF 39 w7 & oIy STARIaT &1, ST a¥g &7 &< 3T ST |

(ifi) =fe ST g0 FE 9T g AET AT ST & AT SHAEAT 5T S gl AT S 2, 90 39 9 & forg g
3= T fRar ST |

(iv) IfE TF T F AT Ao I | F TF Tal & a7 &l AT ATIF I Al & qf S STHIGATL o Jal IqU | 8
et T T Feag T, I8 39 T & o0 safed s war o ST |

TZ ToF  forw g ofeF J2i faT S |

T o ST Y fRaT Heneun § 97 TS foheft off i & wreer #,30S S50 #7 det oY Sifaw qersemT |

ST T SATTHT Tg THAT [EqhT @I w7 Hgl S0 qd qoh F @ret

€T & : SULIH AL T SIS ®ITAL 7 REqFT & @IS T AT ¢ |
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